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AR
1. 25%7) Wuse FRTTFERIGHE fiE
du—0du=0 x€(0,1),t>0
u(0,1) =u(l,t) =0 t>0

u(x,0) = g(x) e C*[0,1].

VIGEE

(D) lim; o0 [u(, 1) [l 220,17 = O,

) [l (-, 1)l Loopo, 1y % T2 LI L,

(3) lim; o0 [ (-, ) [[oogo,17 = 0.

2..(2571) Wu' (i = 1,2) 70 Bl I N ITREAME g MU g € C [0, 1] X 82 i e i A
du —2u =u(l —u) x€(0,1),t>0
0xu(0,7) = o u(l,t) =0 t>0
u(x,0) = g(x) € C*0,1].

R :
(1) Z3HMEREx € [0, 1]H g (x) — g2(x) <0, MV (x,1) € (0,1) x (0, 00)Hu'(x,1) < u?(x,1).

(2) #g(x)TERTF0, Wlim,—oou(x, 1) = Uity € [0, 1] —BUKL. GEon: JoB AT =M R

)
(3) Ag(x) NAEM AL, HA7Ex, € (0, DifFg(x0) > 0, Mlim, 00 u(x, 1) = DXtx € [0,1]—

UKL
3. (2090) W f € L2(U), U AR Pl 56 0 FIF4E, {wi o HL2(U)FIHL (U ) FIbRTEIE
Lo Wum =Y p ) abwi N T 75

/Dum-DwkdX=/f-wkdx, k=12,,m
U U

HIffe UM AFLE{uy )BT BIAEH S (U) T 55U, g5 R 2 T 5 R ) 99 A

—Au=f in U
u=20 on J0U.



4. (1043) e > 0, RN 3E 5 FE I {E 1] 8
02u — ¢?92u = cos(rx) sin(wt) x€(0,1),t>0
0,u(0,1) = d,u(l,1) =0 t>0
u(x,0) =0,0;u(x) =0.

5. (204y) WDR T HERR K25 () R A T R, u € H2(D) N C(D)ii /2 Au < 0 ae. inD. iF
B: u(x) > 0in D.



